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NEW QUESTION 1
A container database (CDB) contains two pluggable databases PDB1 and PDB2.
The LOCAL_UNDO_ENABLED database property is set to FALSE in the CDB. Data file 24 of PDB2 was deleted and you need to restore and recover it.
The only RMAN backup that exists was created with the BACKUP DATABASE command while connected to CDB$ROOT.
Which three are true? (Choose three.)

A. Data file 24 can be recovered only while connected to PDB2.
B. Data file 24 can be restored and recovered while connected to CDB$ROOT.
C. Data file 24 can be restored only while connected toCDB$ROOT.
D. Data file 24 can be restored only while connected to PDB2.
E. Data file 24 can be recovered while connected to PDB2.
F. Data file 24 can be recovered while connected to CDB$ROOT.

Answer: BCF

NEW QUESTION 2
Which three are true about backup, restore, and recovery operations done without using Recovery Manager (RMAN)? (Choose three.)

A. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance bestarted and the dataabse be in the MOUNT state.
B. Backing up a database in ARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in MOUNT state.
C. An Oracle database can be restored from backup files copied using O/S utilities.
D. Oracle data file backups, copied using an O/S utility, can be added to the RMAN catalog as IMAGE COPIES.
E. Backing up a database in NOARCHIVELOG mode using O/S utilities requires that the database instance be shut down.
F. Oraclearchive log backups, copied using an O/S utility, can be added to the RMAN catalog as a backup set.
G. Backing up a database in ARCHIVELOG mode using O/S utilities requires that the database instance be started and the database be in OPEN state.

Answer: BDE

NEW QUESTION 3
Examine this configuration:

 CDB1is an Oracle Database 12c Release 2 database containing pluggable databasesPDB$SEED,PDB1, andPDB2.

 PDB$SEEDis openREAD ONLY

 PDB1is openREAD WRITE

 PDB2isMOUNTED.

 ORACLE_HOMEis/u01/app/oracle/product/18.1.0/dbhome_1.
You execute these commands before upgrading the database to the current release:

For which databases will fixup scripts be created?

A. CDB1, PDB$SEED, PDB1, and PDB2
B. PDB$SEED, PDB1, and PDB2 only
C. CDB1 and PDB$SEED only
D. CDB1, PDB1,and PDB2 only
E. CDB1, PDB$SEED, and PDB1 only

Answer: E

NEW QUESTION 4
A user complains about poor database performance.
You want to verify if the user’s session has waited for certain types of I/O activity. Which view displays all waits waited on by a session at least once?

A. V$SESSION_EVENT
B. V$SESSTAT
C. V$SESSION_WAIT
D. V$SESSION_WAIT_CLASS
E. V$SESSION

Answer: A

NEW QUESTION 5
Which three are true about RMAN persistent configuration settings, administration, and their effects? (Choose three.)

A. A target database’s persistent RMAN configuration settings are always stored in the target’s control file
B. Backup older than the recovery window retention policy are always deleted automatically if the backup location has insufficient space.
C. Backups written to the fast recovery area (FRA) that are oboslete based on the redundancy retention policy can be deleted automatically to free space.
D. The RMAN SHOW ALL command displays only settings with nondefault values.
E. A target database’s persistent RMAN configuration settings are always synchronized automatically with the RMAN catalog.
F. The V$RMAN_CONFIGURATION view displays only settings with values that have been modified.
G. A DBA must specify either a redundancy retention policy or a recovery window retention policy.
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Answer: ABF

NEW QUESTION 6
Which two are true about flashback features in Oracle Database 19c and later releases? (Choose two.)

A. Flashback logs areautomatically purged when DB_FLASHBACK_RETENTION_TARGET is set lower than the time they have already been retained.
B. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_RETENTION_TARGET only after there is
space pressure.
C. Flashback logs are monitored and proactively deleted when beyond the retention period defined in DB_FLASHBACK_RETENTION_TARGET before there is
space pressure.
D. Flashback logs are monitored for being older than the retentionperiod defined inDB_FLASHBACK_RETENTION_TARGET and can be deleted by an
administrator written event trigger.
E. Flashback logs are automatically purged whenever the value of DB_FLASHBACK_RETENTION_TARGET is changed.

Answer: BE

NEW QUESTION 7
Examine this configuration:

 CDB1is a container database.

 COMMON_USER_PREFIXisC##.

 PDB1is a pluggable database contained inCDB1.

 APP1_ROOTis an application container contained inCDB1.

 APP1_PDB1is an application PDB contained inAPP1_ROOT.
You execute these commands successfully:

Which two are true? (Choose two.)

A. APP1_USER1 can be created in PDB1.
B. APP1_USER1 can be created in CDB1.
C. APP1_USER1 canhave different privileges in each Application PDB contained in APP1_ROOT.
D. C##_APP_USER1 can be created in CDB1.
E. P1_USER1 can be created in CDB1.
F. C##_USER1 will have the same privileges and roles granted in all PDBs in CDB1.

Answer: CF

NEW QUESTION 8
Which two are true about the character sets used in an Oracle database? (Choose two.)

A. Single-byte character sets provide betterperformance than multibyte character sets.
B. Unicode enables information from any language to be stored using a single character set.
C. Unicode is the only supported character set for Oracle databases created using Database Configuration Assistant (DBCA).
D. Single-byte character sets always use 7-bit encoding schemes.
E. Multibyte character sets allow more efficient space utilization than single byte character sets.
F. Single-byte character sets always use 8-bit encoding schemes.

Answer: AB

NEW QUESTION 9
Which two are true about RMAN duplexed backup sets? (Choose two.)
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A. A duplexed backup set uses the same number of SBT channels as a non-duplexed backup set for the same number of files.
B. A non-duplexed backup set written to disk can be duplexed to disk bybacking up the backup set that is already on disk.
C. A non-duplexed backup set written to SBT can be duplexed to tape by backing up the backup set that is already on tape.
D. A non-duplexed backup set written to disk can be duplexed to tape by backing upthe backup set that is already on disk.
E. A non-duplexed backup set written to SBT can be duplexed to disk by backing up the backup set that is already on tape.
F. A duplexed backup set always uses twice as many SBT channels as a non-duplexedbackup set for the same number of files.

Answer: DF

NEW QUESTION 10
Which two are true aboutcommon objects? (Choose two.)

A. They can be created only in CDB$ROOT.
B. They can be only metadata-linked in an application container.
C. They can exist in user-defined schemas only in application containers.
D. They can exist in CDB$ROOT and an application root.
E. They can be extended data-linked in CDB$ROOT.
F. They can be created only in an application root.

Answer: CF

NEW QUESTION 10
Which four are true about performing Tablespace Point -In-Time Recovery (TSPITR) using Recovery Manager (RMAN)?

A. It can be performed using anauxiliary instance managed by a DBA.
B. It can be used to recover a truncated table.
C. RMAN automatically adds any required tablespaces to the recovery set to make it self-contained.
D. RMAN always includes tablespaces containing undo segments in the recovery set.
E. It can be performed repeatedly until the correct time is found without using an RMAN catalog.
F. flashback database must be enabled for it to work.
G. It can be used to recover a dropped tablespace.
H. It can be performed using an auxiliary instance managed by RMAN.

Answer: AEFH

NEW QUESTION 11
Which two are true about instance recovery? (Choose two.)

A. It is not possible if an archived log is missing.
B. It is performed automatically after the database is opened; however, blocks requiring recovery are not available until they are recovered.
C. Setting FAST_START_MTTR_TARGET to a lower value reduces instance recovery time by causing dirty buffers to be written to disk more frequently, thereby
reducing the number of I/Os needed during instance recovery.
D. It is performed by the Recovery Writer (RVWR) background process.
E. Setting FAST_START_MTTR_TARGET to a higher value reduces instance recovery time bycausing the log writer to write more frquently, thereby reducing the
number of I/Os needed during instance recovery.
F. It is performed automatically while the database remains in MOUNT stat
G. Then the database is opened.

Answer: EF

NEW QUESTION 13
Which two are true about OS groups and users for OracleGrid Infrastructure and the Oracle Relational Database Management System (RDBMS)? (Choose two.)

A. By default, members of the OSASM group can access Automatic Storage Management and RDBMS instances.
B. The primary group for the Oracle Grid Infrastructure and Oracle Database owners must be the Oracle Inventory group.
C. The Oracle Grid Infrastructure installation must be owned by the grid user.
D. The Oracle Grid Infrastructure owner owns Oracle Restart and Oracle Automatic Storage Management binaries.
E. The Oracle Grid Infrastructure owner must have OSOPER, OSBACKUPDBA, and OSKMDBA as secondary groups.
F. The same OSDBA group must be used for Automatic Storage Management and the Oracle Database.

Answer: EF

NEW QUESTION 14
Examine thisconfiguration:
* 1. CDB1 is a container database running in archivelog mode.
* 2. Multiple uncommitted transactions are running in CDB1.
* 3. Redo log groups 1 and 2 are inactive.
* 4. Redo log group 3 is the current group.
All members of redo log group 3 arelost before it is archived. Examine these possible steps:
* 1. SHUTDOWN ABORT
* 2. STARTUP NOMOUNT
* 3. STARTUP MOUNT
* 4. ALTER DATABASE MOUNT
* 5. RESTORE DATABASE
* 6. RECOVER DATABASE NOREDO
* 7. RECOVER DATABASE UNTIL AVAILABLE
* 8. RESTORE ARCHIVELOG ALL
* 9. ALTER DATABASE OPEN
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* 10. ALTER DATABASE OPEN RESETLOGS
Choose the minimum required steps in the correct order to recover the database.

A. 1, 3, 5, 6, 10
B. 1, 3, 5, 8, 6, 10
C. 1, 3, 5, 6, 9
D. 1, 3, 5, 6, 10
E. 1, 2, 5, 7,4, 10
F. 1, 3, 5, 7, 10

Answer: D

NEW QUESTION 18
The USERS tablespace consists of data files 3 and 4 and must always be online in read/write mode.
Which two are true about using RMAN to perform an open database back up of this tablespace? (Choose two.)

A. Backups must be doneincrementally.
B. Backups must be contained in backup sets.
C. Backups can be taken only if the database is in ARCHIVELOG mode.
D. Backups can be done incrementally.
E. The database must be registered in an RMAN catalog.
F. Only consistent backups can becreated.

Answer: CE

NEW QUESTION 20
Which two are facets of performance planning that should always be considered or implemented for an Oracle Database environment? (Choose two.)

A. defining primary keys for all tables to speed up all queries
B. using check constraints to speed upupdates
C. defining foreign keys for all tables to speed up joins
D. the physical data model
E. the configuration of storage arrays

Answer: AE

NEW QUESTION 24
A database is configured in ARCHIVELOG mode.
A full RMAN backup exists but no control file backup to trace has been taken. A mediafailure has occurred. In which two scenarios is incomplete recovery
required? (Choose two.)

A. after losing a SYSAUX tablespace data file
B. after losing all members of an INACTIVE online redo log group
C. after losing all members of the CURRENT onlineredo log group
D. after losing all copies of the control file
E. after losing an UNDO tablespace that is in use

Answer: BD

NEW QUESTION 27
Which two are true about Oracle instance recovery? (Choose three.)

A. Recovery begins from the beginning of the CURRENT redo log group.
B. Recovery begins from the last checkpoint position that wascalculated by the Database Writer before instance failure.
C. Recovery begins from the start of any ACTIVE redo log group or the start of the CURRENT log group if no other group is ACTIVE.
D. Recovery reads redo until the end of the redo threa
E. SMON rollsback any dead transactions, and then the datanase is opened.
F. Recovery begins from the last checkpoint position that was recorded in the control file by the checkpoint process (CKPT).
G. Recovery reads redo until the end of the redo thread, and then opens the databas
H. SMON then rolls back any dead transactions.

Answer: BDF

NEW QUESTION 28
Which three are true about an application seed pluggable database (PDB)? (Choose three.)

A. It is automatically synchronized with its application root PDB when an application is upgraded.
B. It cannot be added to an application container after the application container has already been created.
C. A new application PDB created by cloning an application seed PDB can have an old version of the application installed after cloning completes.
D. It is automatically synchronized with its application root PDB when an application is installed.
E. It cannot be dropped from its application container.
F. A new application PDB created by cloning an application seed PDB canhave an up-to-date version of the application installed after cloning completes.
G. It is not required in an application container.

Answer: DFG

NEW QUESTION 33
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You issued this command:
RMAN> BACKUP RECOVERY FILES;
Which two are true? (Choose two.)

A. All Oracle recovery files not in the current FRA that have not been backed up already, are backed up.
B. All non-Oracle files in the current FRA that have not been backed up already, are backed up.
C. All Oracle recovery files in the current FRA that have not been backed up already,are backed up.
D. All Oracle recovery files in the current fast recovery area (FRA) are backed up.
E. These backups can be written to disk or SBT.

Answer: DE

Explanation: 
https://blog.toadworld.com/rman_-_using_the_flash_recovery_area

NEW QUESTION 36
For which two requirements can you use the USER_TABLESPACE clause with the CREATE PLUGGABLE DATABASE command? (Choose two.)

A. to specify a default tablespace in a PDB cloned from another PDB in the same CDB.
B. to exclude all tablespaces except SYSTEM, SYSAUX, and TEMPwhen plugging in a PDB
C. to include specific user tablespaces only when relocating a PDB
D. to specify the list of user tablespaces to include when moving a non-CDB to a PDB
E. to exclude a temp tablespace when plugging in a PDB
F. to specify the list oftablespaces to include when creating a PDB from the CDB seed

Answer: BD

NEW QUESTION 41
Which three are true about the SQL Tuning Advisor? (Choose three.)

A. It checks each query being analyzed for stale statistics.
B. It checks each query being analyzed for missing statistics.
C. It only recommends syntactic changes to SQL statements.
D. It can recommend semantic changes to SQL statements.
E. It considers all SQLstatements being analyzed by the advisor task as a group.
F. It builds SQL profiles for each poorly performing SQL statement to prevent regressions.

Answer: ABF

NEW QUESTION 44
Examine these queries and their output:

After a system crash, an instance restart and an attempted opening of the PDBs result in:
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Which two are true? (Choose two.)

A. Data file 24 can be recovered while PDB2 is opened.
B. Data file 24 must be recovered while the CDB is opened.
C. Data file 24 can be recovered while CDB$ROOT and PDB$SEED are opened.
D. Data file 24 cannot be recovered while the CDB is opened.
E. Data file 24 must be recovered while PDB2 is closed.

Answer: AB

Explanation: 
* 19c: PDB SYSTEM or UNDO Tablespace Recovery: The CDB and all other PDBs can be left opened. 1. Connect to PDB 2. Shutdown abort the PDB, if its not
automatically done. sqlplus sys@sales_pdb as sysdba sql> SHUTDOWN ABORT; OR ALTER PLUGGABLE DATABASE CLOSE ABORT; rman target
sys@slaes_pdb rman> restore database; rman> recover database; rman> alter pluggable database sales_pdb open;

NEW QUESTION 48
Which two are true about Oracle Optimizer Statistics, their use, and their collection? (Choose two.)

A. The number of table rows is considered when evaluating the cost of accessing a table using an index.
B. Index balanced B*Tree height is considered whenevaluating the cost of using an index.
C. The Statistics Advisor can help recommend the best way to gather statistics.
D. Statistics collected using DBMS_STATS always yield the best optimizer result.
E. The Statistics Advisor generates actions for all recommendations.

Answer: CD

NEW QUESTION 50
Which three methods can be used for heap table data migration after upgrading a database? (Choose three.)

A. using Database Replay
B. using SQL Developer
C. using Oracle Data Pump
D. using operating system file copy utilities
E. using Database Upgrade Assistant
F. using the CREATE TABLE AS SELECT SQLstatement

Answer: DEF

NEW QUESTION 54
......
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